A & 0l & AF 2 E A A
20138 & S0l& Lets|H A4EFRE ~ 4E7E
A= AEgFE A aEFRE 20
M HEe AL (MY B2
& o 2d| (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
o413 34,517,925 36,288,652 AN1,770,727
= 121,961
< 244,000
Al 34,151,964
ag7E SR 15,018,543 14,878,329 140,214
= 47,902
Al 14,970,641
HE2LIH (4L E2N) 13,275,517 12,894,895 380,622
= 47,902
Al 13,227,615
el 2 12,805,161 12,453,130 352,031
= 47,902
oI 244l 11,023,297 10,734,836 288,461
101 @14 dl 11,023,297 10,734,836 288,461
01 2= 8,894,369 9,110,802 A 216,433
OJles 6,589,052
OASUHAX(43) 73,036,000& 73,036
OJdles 6,014,784
- EHA 5,221,711
- 558 3,823,600 * 8Y » 123 367,066
- 62 3,244 ,400& = 588  12&8 2,258,103
= 2,626,200 * 449% » 123 1,386,634
8= 1,864,300& = 33% » 128 738,263
- 9= 1,355,300& * 29 123 471,645
-JlsA 793,073
- 62 3,305,700& » 29 128 79,337
a= 2,843,700& » 5% » 128 170,622
- 82 2,447,200& » 69 » 128 176,199
9= 1,798,600 * 1798 » 123 366,915
Oa0= 501,232
-d32s
6,014,784,000& * 1/12 = 50% * 23l 501,232
o=¢ 1,280,337
OxzH2ZRsE 589,523
-2etx g IS A
8,4763 » 207" » 28AI2t » 123 589,523
oAU 622,654
“JtEg(YeA) 155,280
i < Xt 40,000 = 180 = 12& 86,400
ZHl5 20,000& = 27298  12&8 65,280
- AITHAE OFAES
30,000& = 108 » 12&8 3,600
-AHEHEE+E 66,359




N = 0l & At & Ml A

a= e SN AYRH B2
= ABL(MET ELT)
ch < 2l
= _ — SHE|
M- E8-89(3) - HRAY - By S Ol &+ o4 e
Elis 51,990& * 279 x 43| 5,615
- SEM 433,880 = 359 =« 43| 60,744
-S0FA+E 750,000& = 129 = 123 108,000
-E25g Ihts 204,600
254 01 & 130,000& = 4098 » 128 62,400
201014 ~ 25140/ 8
110,000& * 359 » 123 46,200
- 15801 ~ 204018
80,000& = 70 = 123 67,200
- 108014 ~ 15& 0] et
60,0003 = 259 = 123 18,000
- 53 0la ~ 10 0] ¢
50,0002 * 182 * 12 10,800
-HRILE ¢ 88,415
vtz 537
2,896,100& = 4H » 4.8% ~ 128 6,673
vtz 63
2,485,400& * 20H * 4.8% *» 123 28,632
vtz 73
1,990,300& * 40H * 4.8% » 123 45,857
15 63
2,512,100& = 1H » 4.8% ~ 1228 1,447
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2,223,100% = 2H » 4.87% = 12& 2,599
-JIs2 82
1,855,600 * 3 * 4.8% = 12& 3,207
OE+=gfs+E 68,160
- Eg2RE 4,440
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Jlsgesg 63,720
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OYE FIHl 601,479
ogyt - IS
6,014,784,000& * 1/12 = 60% * 23l 601,479
© 2t Al 100,581
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2
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2,510,200& = 138 » 128 391,592
- 1580/ 8t 1,973,600& » 1H » 128 23,684
odud= 37,560
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OxzH2ZR+E 47,600
“A 2R
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2,3043 * 1H » BAIZH » 365 6,728
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Oogd=¢ 41,527
“ESE 15,600
il < Xt 40,000& = 159 = 123 7,200
- E S 20,000 = 35% « 128 8,400
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O I &l
450,712,000 * 86% * 1/12 = 1/30 = 7 7,537




NE RNy SN NETE Z220
o WESAAY (ML 20
chel: ol gy
AR 2N ZH-SH(EH) - HRAY - BES Of & o il
ONEZEERES 695,055,000 * 1.4% 9,731
OUALE =532 2=+ 29,671
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ZAZ 893,819 892,374 1,445
P PN = 893,819 892,374 1,445
(@F1IeN 854,834
Oo=3 494,819,400& * 110% 544,302
OSFIHME 282,301,000& * 110% 310,532
OFABZ 35,440,500& * 110% 38,985
304 H=2R2E=2S 491,423 419,146 72,277
02 B0AHAALEE= 491,423 419,146 72,277
O=0AHAUEEH B2 461,213
O&8AH 15,467,673,000& * 2.9% 448,563
OJIEtE Z) 436,189,000& * 2.9% 12,650
== 30,210
448,563,000 * 6.55% 29,381
Z) 12,650,000 * 6.55% 829
470,356 441,765 28,591
470,356 441,765 28,591
2 8H2 A H| 229,990 195,504 34,486
AtR 22| 8 222,924 176,324 46,600
oOJ2gRsd S3 | 13,310,000& 13,310
ogaa & &2  50,000& * 2JHA * 63 600




a2 4g7E SN 4YPE B2
M MSAAH (4R 21
@2 Jl2&tl (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
oY - -=mdxd 191,200
O= 2 (8¢g) 60,0003 * 6% x 2502 90,000
og A 80,000& * 5% » 115 46,000
OY. .= (FYX) 80,0008 * 6% * 115 55,200
O ELH (S2H) 13,824,0008! 13,824
OAZHAN AREN 2|
6,000& * 100¥ = 23 1,200
OTLUANL AREX S|
6,000& * 40¥ x 10 2,400
OYHA Ha4AuE 2 390
oo =2et 30,000& = 304 A 90
(@)1 P Ey=L 100,000& * 30 A 300
02 33249l 7,066 19,180 A12,114
OLBRER 2 2703 x 1,0008 * 12& 3,240
0sIIRER2 1,700& = 50& ~ 12& 1,020
Ootts s 1,650& * 70 » 12& 1,386
O&=J dJI&8d ¥ (s
22,100& = 30 * 123 796
O&=J| Xtz 26,000& * 204 « 128 624
202 04| 30,720 30,720 0
01 2LHOHI 30,720 30,720 0
O J|&EZ&HI 30,720,000& 30,720
203 PR =&Y| 37,750 37,750 0
01 J|22H L R=AH| 26,400 26,400 0
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301 dEtEAZ 38,844 38,844 0
02 &eta2Lsit=a 38,844 38,844 0
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01 At 22l Yl 24,468 14,920 9,548
OFzR4Y:e A JIEEE ¢ EY 2,800
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AR MY SN AYRH ALY
M HMSAFH (AR AL
@2 Jl2&tl (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
01 AFR2 22l Yl 23,044 25,446 N 2,402
OJI=2gRdHESHY| 9,640,000 9,640
OJI=ZHl (SHl) 10,368,000& 10,368
ONeI= XA 88,000 * 204t Xt 1,760
oxrdgs & =22 1,000,000 1,000
O8I 2z 23,000& * 12&8 276
02 =329l 9,741 9,451 290
oRE2 9,165
OosJ*H 1,770& = 3,500H 6,195
OgutH 2704 « 11,000A4 2,970
OHEHFZ LR =& FHHIS XY 576
O&E K= AL 3,200,000& * 3CH * 6% 576
202 04| 22,080 22,080 0
01 2LH0HI 22,080 22,080 0
OJ|IEZHI 22,080,000& 22,080
203 Q2 =AY 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
O©J|=H (302! 0lat) 350,000& * 12& 4,200
NS LA E /s SADIetxH 4,426,114 7,689,619 N 3,263,505
T 244,000
Al 4,182,114
= 12m018te SAIHEEZ WE 1,003,814 3,233,753 N2,229,939
YeE AU ¥ TR (AR2-14) 201,440 518,656 A317,216
401 Al HI YL 2 0HHI 201,440 518,656 A317,216
01 A& HI 200,000 516, 136 N316, 136
O = 2 &4l (L=140m, B=8m) 200,000,000 200,000
03 Al 201 Y] 1,440 2,520 A 1,080
OEZME A& 20|
200,000,000& * 0.72% 1,440
HES 80 ¥ 2N 82,396 200,000 A117,604
401 Al HI L £ 0HHI 82,396 200,000 A 117,604
01 A& HI 81,676 200,000 A 118,324
O E X 01 Yl 80,000,000 80,000
O BIE 2AEL4R 1,676
2B 242
80,000,000& * 0.0011 * 27427 = 176
OSJI0IN™ =5 70,000 * 2Z X 140
OZdH=EE =2 411,000& * 22 X| 822
ozg=sdg =8 269,000 = 2Z X| 538
03 Al& 201 Y] 720 0 720




A= NYTDE SN AYTE AL
o N PHUHES A TAIIBES
S == 12m0Igte] SAIHEERZ HE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OTZ2ME ALl 80,000,000& = 0.90% 720
&2 HYEA 24 208,856 548,679 A 339,823
201 Lt 876 300 576
01 At 22l 300 300 0
oaxsz % XN 300,000 300
02 =24l 576 0 576
OALdE FRF& HHI KX HI 576
O&EX=F A 3,200,000 = 3CH * 6% 576
401 AIEHI L 201 207,980 542,953 A 334,973
01 A& tl 206,540 541,153 A 334,613
Ox+=EMZNEN E 2B ==& 4,480
O8I0l &E==2 70,000& » 20E X 1,400
O38+==+2 121,000& * 20Z Xl 2,420
O8I (MEI}) 660,000 660
OJ E2HYEN € 2712 X 24
200,000, 000& 200,000
OMLtH BHEs ASF==+2 2,060
OZZEI} =22
300,000,000& * 0.0011 = 20472t 660
OsJ0lE =2 70,000& » 20E X 1,400
03 AlE =TI 1,440 1,800 A 360
OJI E2EHYEXN 24 R0l
200,000,000& = 0.72% 1,440
BAREE LRUHEE FAHAY 50,540 50,000 540
401 A& HIZ 201 I 50,540 50,000 540
01 A& HI 50,000 50,000 0
O ZE AN S Al 10,000,000 = 5JH £ 50,000
03 Al 2 0HHI 540 0 540
OZ3A=& JIEt 2CHHEl 50,000,000& * 1.08% 540
E2I|EAIE &E K& 16,932 14,112 2,820
201 £B-2dH| 14,892 12,072 2,820
01 At 22l 14,670 11,850 2,820
OBt~ 14,670
OZAAHERH AMRE 2EF 3,760
-SALE Xl (A4) 20,0003 = 7& Xt = 128 1,680
-IEJ AEF 1,120
- 23 70,000& = 1CH = 63l 420
IEJ EX 100,000& * 728 Xt 700
—EXOIENH & =A MEN R
40&  2,00000 = 12& 960
OHNLEH A2 5,100




AR MY SN AYRH ALY
& XY ZE€@EAES /s TAIDIEEXH
Sl =Z 12n0I2 SANEEZ KA (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
-& A=A EH  260,000& * 10 = 128 3,120
-TglE EY 165,000 = 204 = 6& 1,980
OEXNgEHZE 258 U S)ls==E 5,810
-SJI0|1d™ =5 70,000& = 10€ X 700
-HE=EY 2 242 000 = 10€ X 2,420
—TEEY 5 269,000& = 10 X 2,690
02 352494l 222 222 0
OEXNOSAHEA LZE2 HHEH RA2
2l 222
O&E K= A 3,700,000& * 6% 222
202 04d] 2,040 2,040 0
02 & 40| 2,040 2,040 0
OEXNHEHY LA FAOY|
170,000& = 1Y = 12&€ 2,040
AMNMES HEOIIE ~SREAZ T2 350,002 0 350,002
401 Al HI L 2 0HHI 350,002 0 350,002
01 Al&H| 347,500 0 347,500
O =2 &4l (L=180m, B=6m) 347,500,000 347,500
03 A& £ HH] 2,502 0 2,502
OEZIME AES0Hl 347,500,000 * 0.72% 2,502
s9gs A2 3sH E2HE 93,648 0 93,648
401 Al HIL 201 93,648 0 93,648
01 Al&H| 92,838 0 92,838
O=23tM XNEXAF S| 1,000,000& = 14 1,000
O E X0 & B 90,000,000& * 14 90,000
OMMA HES AFE 2 1,838
OZEEI £=42
90,000,000& * 0.0011 = 2420 198
OSI0HE =2 70,000 * 4Z X 280
OZA=Y =& 411,000& = 2Z X 822
Oz =2 269,000& * 2Z X 538
03 A& £ 0HH| 810 0 810
OEZIME AIE=204 90,000,000& = 0.90% 810
Z 22 3,422,300 4,455,866 A 1,033,566
= 244,000
CT28H ¥ RAES 1,705,348 1,676,170 29,178
201 Bt A H| 199,901 147,345 52,556
01 AtR 22l 37,816 23,780 14,036
oz dH A8 228 #*¢ 10,576
OEZH ZgHI 23 6,904




AR 4gTE SN AT ALY
M X BEHUMS I8 TADIBEY
¢4 &2 &2 (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
-£E2H ZXI(A1)
27,500& * 58 » 1201 & 1,650
-£2H ZXI(A0) 66,000& * 1€ » 12& 792
—oll = 48,4003 = 201 » 12& 1,162
-E2H 943 55,000& = 504 = 123 3,300
OdioIdEZe e EU
153,000& » 201 » 12& 3,672
Ok=z2% &M= MA € == FHl X 14,850
O=24D| 550,000& = 1CH = 15¢ 8,250
OgZxt 440,000& = 10H = 15¢ 6,600
O A72 E2EXN AME=Z
5,000,000& * 10024 5,000
OEZXotxE MIjotdze| 2
272,5008 * 128 3,270
OYA-AA HE FIIGHBUYE 242
272,500& = 12& 3,270
OBAMGHIET +HHELH FIIHM
850,000& = 13l 850
2324l 162,085 123,565 38,520
Ootazz dZE 2323 9,660
odIIe2 65,0003 * 128 = 5 A 3,900
Ostes 5,760
-HFEIHE23 60,0008 * 7TIHLA + 128 5,040
-ZNABIA23 60,0008 « 1HA « 128 720
Os2d= XY= Hel AE € 2A4 46,560
(OFSPIE=3= 1,000,000& » 12& 12,000
O&dt=E 23 3,600& = 800 * 128 34,560
OJlsEt AISR 2 ety 1,395
ORsH 1,395& = 20m" » 50 1,395
OL=¥ HM=XYE WFI A=Hl 2,462
ORsU(zER)
2,051& = 64 = 1002 ~ 204 2,462
OZ2FHl &#H| =eltl 1,500
OQUWlHII, HEIl & 500,000& = 3& 1,500
OXotxE JIHEE SX 6,684
SEUH(ZER) 1,820& = 4004 = 33l 2,184
Og &Il =cltl 1,000,000& * 14l 1,000
Otf=8= =2lt| 3,500,000& * 14l 3,500
OXIotXE =Bt S XIHl 5,000
=& Bt 500,000& * 54 A& 2,500
Obi & gt 500,000& * 5 A& 2,500
OHYX &H2t HE 2323 88,824
odIIe2 6,500,000& = 12& 78,000
Ostes 82,000& = 12& » 1100 10,824




AR MY SN AYRH ALY
M. XY ZEYNZE /st TADJERY
ool T2 B2 EERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
206 M = Hl 66,788 65,550 1,238
01 & bl 66,788 65,550 1,238
OXA=2E4LE I 65,050
(OPNE=PNRIE=DNE= 231,000& = 1007 23,100
OZEHorAE 14,000& * 2,000% 28,000
OAHE 5,000& = 500X 2,500
Ol 23,000& * 150m 3,450
OS2 (MA) 45 16,000& = 500m 8,000
oxz24 &G otd™2A2E XM 1,738
O3 AFOHLH & X| & 60,000& = 24 120
OSAIS A 25,000& * 204 500
O3 AME ctHtZ2 13,200& * 404 528
OdXt &S 15,000& * 109H 150
OfIg 218s 17,600& = 2504 440
305 a2 S 5,000 5,000 0
01 HA=2S 5,000 5,000 0
OEZANE=Z =2 Z OIsk HoH b4t
500,000& * 103l 5,000
307 212t01 & 86,640 79,200 7,440
05 A2t E = 86,640 79,200 7,440
OJ|stt AFFRA L™ (I HEH)AE
200,000& = 12& 2,400
OXote &AM 380,000 * 400 x 12€ 18,240
O=EYZ XeleHel X E2=H((L=430m,B=15m
) 66,000
O+ & AHEAHI
1,000,000 * 3IHA ~ 128 36,000
OAHBANEZE S A 2,500,000& * 12& 30,000
A &Y Z LY 1,347,019 1,377,575 N 30,556
01 A& HI 1,339,175 1,371,275 AN 32,100
OE2FNE LAY AAIEHH
1,050,000,000& * 1.0% 10,500
Oz L T 2ANEZ2 AL AY 1,000,000
O0AZE A2 255,000,000 255,000
OXHE & A4 80,000,000 80,000
OBTIAN 90,000,000 90,000
O2Z2RANE> 575,000,000& 575,000
OFRE2H(M=&Y S)HUIAFE (L=102.3km,
33!) 195,000,000 195,000
OEgLx=(EHEH) 445,000& + 152 X 6,675
OSERITZ S ALK EL 3 A
50,000,000& 50,000




A= NYTDE SN AYTE AL
M X BEHUMS I8 TADIBEY
e &= el (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ootz M@ |2
1,500,000& * 12& 18,000
OtHHE & XotitE HAEA
30,000,000& 30,000
OttdEE CCTv & A& |2
00,000& = 20CH = 123 24,000
OFA~ME HE T 2L TA
5,000,000& = 14 5,000
03 Al 2 THHI 7,844 6,300 1,544
OERRINES ALRUH
1,245,000,000& * 0.63% 7,844
g 2 AEES RA2CAY 941,490 1,008,218 A66,728
TAEHI &R0 941,490 990,218 N48,728
01 A& HI 935,630 984,947 A49,317
Ooung:=Ex=22 HAEA
200,000,000& = 2.75% 5,500
OZZUW (&) 40 NS FLotdad 89
388,750,000 388,750
OZEBEWL 234 A= HLEZES
341,380,000 341,380
owz  JIEAIEE |FXE= 200,000,000 200,000
03 A& =2 THHI 5,860 5,271 589
O DEKRAES ALR2UH
930, 130,000& = 0.63% 5,860
FU=R ALY 480,211 744,827 N 264,616
401 Al HIZ 201 Y] 480,211 744,827 N 264,616
01 A& HI 477,006 741,182 A 264,176
OFQU=JAAY AL A
508,700,000& = 2.99% 15,211
OuMz 42 BEHHl 3AHL=150m,B=2.5)
50,000, 000& 50,000
OMEs d33Y =¥ T2 ZAHA XA
L=125m,B=1.5m) 10,000, 000& 10,000
OEMZ(ZLISE~MCA) 23 &2 T¥2D]
= Ab(L=85m, B=6m) 10,710,000& 10,710
ONMZAHe~ZL3d & E=FH 3 AHL=80m
B=2~4m) 13,200, 000& 13,200
OuAMZ 150812 2 1A 23 &2 TN
= Ab(L=135m,B=3~5m) 11,865,000& 11,865
oug2s 115-382 X LA =223 AH(L=45m
,B=7m) 11,340,000& 11,340
OHMZ(HMAMAH~-SLAINE)LE S22
& 243 AH(L=700m) 70,000,000 70,000
O232ds AUR(2ELHE) 2 T2 IM2
Jl B AH(L=190m,B=5m) 19,950,000 19,950




A SN METE A
M N DHUNES A TAIIGEN
e &= el )
AR RA - ZBEAGEH) - MRAY - BES il 2
O3ds S8R & T2 IN=2I] ZAHL=30
Om,B=12m) 75,600,000 75,600
OBYS MNZ(SE2TX %) Y& T2 UM
2 J13 AH(L=265m,B=7m) 38,955,000& 38,955
OEAEZ(MIIA~2221) BEE=FHUIZAHL=
370m,B=3m) 66,000, 000& 66,000
OE2S 4628 X 22 T 28 4= AH(L=100m,B=
3m) 67,000,000& 67,000
OF=dE 262-1H X L@ =252 AH(L=50m,B
=2m) 10,500,000& 10,500
O3 6,675
OZH=E 445,000& = 152X 6,675
03 AIE 2 THHI 3,205 3,645 A 440
OA &SI 508,700,000& = 0.63% 3,205
A SN AL 255,829 251,800 4,029
< 244,000
Al 11,829
401 A& HIZ 2018 255,829 251,800 4,029
< 244,000
Al 11,829
01 A& HI 254,000 250,000 4,000
OMUZEHNAHHAY 2SI PAXIAY (L=
115m, SJ1+5) 30,000, 000& 30,000
< 30,000
ONYZTH-st228 o= ZFH| At (L=200m,B=1.
5m) 40,000,000 40,000
< 40,000
O=& 463-1 St==2t & dl AL (L=50m)
20,000, 000& 20,000
< 20,000
OXLE 125-1 S 2 & 3 AH(L=250m, B=4m)
90,000, 000& 90,000
< 90,000
OE2= 11428 X EXTUEXSA
12,000, 000& 12,000
< 12,000
OE22E 425-1% X XM = At
12,000,000& 12,000
< 12,000
OBEs 78 SYHEXSA 30,000,000& 30,000
< 30,000
Osgs &dellts HLEZ2EFI3A
20,000, 000& 20,000
< 10,000
Al 10,000
03 Al 2 THHI 1,829 1,800 29
OXNGIHLALSE SCHEl 254,000,000 * 0.72% 1,829




NERRN=EE" SN Mg
M X BEHUMS I8 TADIBEY
e &= el (&)
A SA - SAEA) - MRAY - BES il HImEET
28 XN AL 39,422 774,851 AT735,429
401 Al HI K 201 I 39,422 774,851 AT735,429
01 A& Bl 39,000 770,000 A731,000
OFLS 30-3HXH OtAZ IHNRI| A 15,000
OL=220m, B=3m 15,000, 000& 15,000
O3dS HYZ 32 24(36MHA)
10,000, 000 10,000
Oz=&ds =2 el Edl 10,000, 000& 10,000
022HE 2568 INFH B4
4,000,000& 4,000
03 AIE S THHI 422 4,851 N4,429
OAAZXNAINRIIAG AIERUX
39,000,000& = 1.08% 422
HEE 2 & =X32 =235 2,203,242 2,047,336 155,906
2. 208 RA2e 1,463,293 1,392,377 70,916
rz=2ers o4 2 W 241,841 146,044 95,797
401 Al HI K 201 I 241,841 146,044 95,797
01 A& Bl 240,004 145,000 95,004
oJz=2ets dd & W
1,000,000& * 80H A& 80,000
o= Jt2s HEJ1g LA
6,500,000& * 100H A& 65,000
OuUX B4E H2SII+ A
678,600 = 1400 A& 95,004
03 Al 2 THHI 1,837 1,044 793
OJnzLEets A4 E i AEZ=R0H]
255,004,000& = 0.72% 1,837
otz - 2ets 2l 1,221,452 1,246,333 A 24,881
201 Let24d] 835,367 861,890 A 26,523
01 At 2teltl 27,167 22,130 5,037
odAHE=Z0Y 4,750
OEST 4,000,000 * 10HA 4,000
QETSEMZZ e 2 01E
750,000& = 14 750
OJ2Es HIILH BH===2 21,657
ozdg 44,2003 * 22400 & 9,901
OJnzs 7,440 * 1,580 = 11,756
OJz2=2etsE B YA I=H] 760
o= 90,000& » 29H 180
ogst= 100,000& * 29 200
Ost = 90,000& » 29H 180
OetHE 3t 50,000& = 2H « 23| 200




AR MY SN AYRH ALY
Hu: HNE Jl2EY U SN2 HE
e JI2 . BotE X2 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
02 3524l 808,200 839,760 AN 31,560
OJz2EoS MIe= 803,400
OJlzs 7,800& * 5,0008 * 12& 468,000
OBots 6,500& * 4,300 *» 128 335,400
QJtz2s 2 I SR
4,000& * 10000 A = 12& 4,800
206 M = Hl 31,565 31,923 N 358
01 X2t 31,565 31,923 N 358
oJzgeEos B8 UM 31,565
ONEANey & 33,400& * 1504 5,010
Ol Aty o-& D] 46,200 * 15004 6,930
OoBgots HED| 72,700& * 500H 3,635
Otz sgs HE)| 1,828,000& = 5J4 9,140
OLNYULES ¥ 20,000& = 10004 2,000
ONYUESE oA 48,500 * 1004 4,850
401 AIEHIL 20| 352,520 352,520 0
01 Al Bl 350,000 350,000 0
OJtzs2ots B 500,000& = 7004 £ 350,000
03 A& 20HHI 2,520 2,520 0
ON2EHE B =& AE20UYI
350,000,000 * 0.72% 2,520
405 X+HoHF SHI 2,000 0 2,000
01 A&t =S F SHI 2,000 0 2,000
o2 XotAE Wed| FY(HFAR)
2,000,000& * 1JH A 2,000
S SEIA ALY 444,216 342,548 101,668
el ols& SA=2 263,206 261,121 2,085
201 YEt2 Ayl 16,283 11,781 4,502
01 AR 22| I 16,247 11,781 4,466
O33U ZXNdEA =s2= HE
11,000& * 8444 = 20H 1,848
OxHEFEE MeIBE &EX 4,800
O1E &= 2,300,000& = 1CH 2,300
O2.58 XtHE 2,500,000& = 1CH 2,500
O0e0lZ2& =0lAIE2 EIIANESA
350,000& * 16JH 2 5,600
O0elol=d =3S MIEHB8E =5 3,279
o=z&8g 48,000& * 394 A 1,872
O3d& 7,000& * 20100 & 1,407
OUEOI 2L 2 JIME=AHA
90,000& * 8 A 720
02 =294l 36 0 36




AR MY SN AR ALY
HE: WNE NRHY U SNDA HE
Sel: B BINL AL EERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
O0e0Z2E & 22
3,000& * 1OHA + 128 36
206 M = Hl 4,500 4,000 500
01 XHZ H| 4,500 4,000 500
OASY Y TR BAE 42 7Y
3,000& = 1,500= 4,500
305 A2 S 2,000 2,000 0
01 & =2S 2,000 2,000 0
OO 22 AMoHIlol BHAZ(KXEH B
=) 500,0008 * 43| 2,000
307 212t0| & 10,800 0 10,800
05 QIZtR E 2 10,800 0 10,800
OORI0IZE QI2t9E HA
300,000& = 3HA = 128 10,800
401 A& HI L 204 HI 229,623 243,340 N13,717
01 A& H| 228,100 242,000 A 13,900
O0E0l 2€ A2 (RY 2 38MHA)
3,000,000& * 3904 £ 117,000
OZHANAEE2 U ZAHRYL 2 15H2A)
2,000,000& = 16002 32,000
O2¢ OHMEAIC & B (=2 9 5IHA))
5,000,000& = 6IH A 30,000
O olZ28 XA HH|Z2 At
3,500,000& = 5J0 A 17,500
ONeol=2a 23l
500,000& * 8JH A = 43| 16,000
OFFZ2H K& oHLfE &X
400,000& * 3904 A& 15,600
03 Al&E 201 Y| 1,523 1,340 183
Oelol=2a 22l & HHIAMY =&
211,500,000& * 0.72% 1,523
Helol =22 sa ZA 104,830 0 104,830
401 Al HI L £ 0HHI 104,830 0 104,830
01 Al& H| 104,080 0 104,080
O£ 2 o222 1A SEUstAr
50,000,000 * 2J0 A 100,000
= 0222 1 SUHSAFY AAA
A 100,000,000& = 4.08% 4,080
03 AIE 2 HH] 750 0 750
ONHelol=2d SUHSAIY =&
104,080,000 * 0.72% 750
ABE A2 L AIEZS FHISA 76,180 81,427 N5, 247
401 AlEHIZL 2 0HY| 76,180 81,427 Nb, 247
01 Al& b 75,500 80,700 A5,200




AR 4gTE SN AYTE AL
My NG JRET L =X HE
Sel: B BINL AL EERED
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
OAZE AIEE FHISA(I3MHA)
2,000,000& * 1374 A& 26,000
OAZE A2l (450HL)
1,100,000& * 4504 A& 49,500
03 A& R THHI 680 727 NAT
OAZE 22l & FHIAY =&
75,500,000& * 0.9% 680
= % =XAE 2l 295,733 312,411 N 16,678
5 2l 95,310 92,074 3,236
201 Let24d] 1,500 1,290 210
01 At 22/l 1,500 1,290 210
OZHIYXZ (=24 014])
500,000& = 104 = 33l 1,500
401 AIEHIZL 2CHYI 93,810 90,784 3,026
01 A& Hl 93,000 90,030 2,970
ONHETEH 2 EXMAIN M)
9,000& = 10,000= 90,000
oY= HIIE HMel 60,000& » 50& 3,000
03 A& S THHI 810 754 56
OJtz+ &l AE=20
90,000,000& * 0.9% 810
KA 2el 200,423 190,067 10,356
01 el bl 83,232 74,455 8,777
04 JIZHHZ22XNHEE S 83,232 74,455 8,777
OZIATH(YES) 50,000& = 8 = 100 40,000
OM=S AMEZ2(LB)
38,900& * 6% = 1502 35,010
OAMABE= 7,722
O=0H3RE=3 75,010,000& = 4.5% 3,376
OAHLE2E=RE= 75,010,000& * 2.9% 2,176
OFINRAEEEZRES
2,176,000& = 6.55% 143
CnE:2gs 75,010,000& * 1.4% 1,051
Ot M 28 = 75,010,000& * 1.3% 976
OR4& X =4l 500,000& = 19 500
201 ¢et24] 2,813 3,051 A 238
02 =224l 2,813 3,051 A 238
OJtZ23sttt &+=E23 5,000 * 4oL « 9F 180
O=XAE ZHH(HMAES 22) 1,933
Os&MU 2,051 = 44 = 1404 » 15 1,723
Ooddaey 5,000& * 0.2f * 1404 = 15 210




AR MY SN AYRH ALY
Hu: HNE Jl2EY U SN2 HE
Sl D24 Y =XAA 22 CERED
I SN Y. B () NEAY - BAS 0 AF o ﬁlf& HD=2
O=sXIAIE Zdl£2ldl(HMelE 22)
100,000& = 7CH 700
206 M = Hl 10,800 11,270 N470
01 & bl 10,800 11,270 N470
OJI23Y MR A (=287 5)
1,500& = 5,000 7,500
oz E2E 100,000& * 9& 900
OJt=2 3 2tel Xt 2,400
ORJI& H= 7,000& * 200%E 1,400
[@F-2=13:] =3 20,000& * 503 1,000
401 Al HIL 201 103,578 99,891 3,687
01 Al Hl 102,837 99,000 3,837
O22 HHISAH(ASHZ L 232 )
1,000& = 102,837m 102,837
03 A& 20 b 741 891 A 150
O=X&2AY =& 102,837,000& * 0.72% 741
SMEAIE /s ME XSG 46,025 37,464 8,561
METE B4 2 BS 46,025 37,464 8,561
A= 0l 2 32,319 27,854 4,465
201 2Bt | 28,619 24,154 4,465
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